







Every detail is designed to make you feel good

Location

Meliá Caribe Beach Resort is located in Punta Cana, on the East Coast of the Dominican Republic. Only 15 minutes away from Punta Cana International Airport, 20 minutes from Higüey, 40 minutes from La Romana and 2 hours from Santo Domingo by land transportation.

Accommodations

All suites are equipped with:

- Ceiling fan and individually controlled air conditioning system
- Cable TV, international channels
- Telephone
- In-room safe
- Mini bar with water and soft drinks
- Coffee, coffee maker
- Fully equipped bathroom with accessories
- Hairdryer
- Private balcony or terrace
- Iron and ironing board
- Internet



Pet Friendly Hotel

With you wherever you go. Our Pet Friendly hotel offers the best conditions and care for furry friends*

*Restrictions apply



Deluxe Room (452 sq. ft.)

Featuring a king-size bed or two single beds (on request and subject to availability) and a garden or terrace.

Family Room Beachside (452 sq. ft.)

Offers spectacular views of the lush tropical gardens or beautiful pool area and provides two single beds or a king-size bed (on request and subject to availability) as well as two bunk beds and a sofa-bed.

Two Bedroom Suite (904 sq. ft)

Two connected rooms, each with a cozy living room, and two independent bathrooms. In addition, a nice terrace overlooking the garden or pool.

The Level Junior Suite Garden View (452 sq. ft.)

Junior Suites feature a king-size bed or two single beds (on request and subject to availability) and a garden or terrace.

The Level Suite Beachside (452 sq. ft.)

Featuring a king-size bed or two single beds (on request and subject to availability), private terrace or balcony with magnificent views of the gardens or pool.

The Level Junior Suite (516 sq. ft.)

Featuring a king-size bed and a view of the pool or gardens. Our Suites feature a sliding door in the bedroom for greater privacy, an in-room whirlpool and have a private terrace or balcony.

The Level Grand Suite (815-square feet)

Featuring a king size bed and a view of the pool or gardens. Suites feature a dining room with full size refrigerator, private terrace or balcony, and in-room whirlpool.

The Level Two Bedroom Suite (1331 sq. ft.)

Two large connected rooms, each with a cozy living room, and two independent bathrooms.

THE LEVEL

THE LEVEL upgraded services and facilities include:

- THE LEVEL VIP Lounge for private check-in/check-out, offering daily service of snacks, free Internet, premium beverages, and hors d'oeuvres
- Exclusive Rivera Restaurant with daily access to breakfast, lunch, and dinner
- Exclusive pool with solarium and Bali heds
- Exclusive beach area with access to Cape Nao, beach snack bar offering lunch menu and drink service on the beach
- Guest Experience concierge service
- Complimentary Room Service
- Turn down service
- Preferential reservations for YHI Spa, golf, tennis, and other activities.

Restaurants and Bars

ROSSO - Italian cuisine

TAURO - Grill to share the best cuts of meat with family and friends

LA HACIENDA - Mexican cuisine

HOKKAIDO (\$) - Japanese cuisine

MERKADO - International buffet for breakfast, lunch and dinner

O GRILLE - Snack bar inside the Splash Island water park

RUMBA - International beachside buffet for breakfast, lunch and dinner

BAZAAR- Snack bar on the beach

RIVIERA - Exclusive to The Level guests - Buffet for breakfast and lunch, and à la carte service for dinner

CAPE NAO - Beachside a la carte restaurant, open for lunch and dinner. Exclusive for The Level.

SAPPHIRE BAR - Modern and elegant holding bar, located between Tauro and Rosso

BARGARITAS - Enjoy a fresh margarita in a relaxed and fun atmosphere

OLIVE'S - Relaxing and stylish lobby bar

POOL BAR - Offering poolside refreshment

RUMBA BAR - casual bar with priviledge views of Bávaro beach BAR AT RIVIERA - Exclusive to The Level, located at Riviera restaurant







Facilities and Services

- 6 swimming pools
- KidsDom, a fun and interactive mini club open for children from 1 year to 12 years. It includes a swimming pool, garden play area, videogames room, movie room, arts and craft area, area for babies, and activities program organized by age
- Splash Island Water Park
- Energy for Life activities, teen's program, sports, weekly entertainment program
- THE LEVEL premium services
- YHI Spa (\$) & Gym

- Boutiques and Casino (\$)
- 3 tennis courts, 1 basketball court: complimentary equipment available; lit for evening plays (\$), lessons (\$)
- Complimentary green fees at Cocotal Golf & Country Club, 27-hole world-class championship golf course. Golf cart rental mandatory (\$). Rental clubs available (\$).
- Babysitting (\$)
- Laundry service (\$)
- 24-hour medical service (\$)
- 24-hour taxi service (\$)
- Babysitting (\$)









Love Stories By Meliá

A unique wedding caressed by warm Caribbean Sea breezes. A privileged environment in which to celebrate your big day. Say your "I do" under a gazebo set in exotic gardens or along the sea. Our wedding spaces make your special day an absolutely unforgettable memory.



WEDDING PACKAGES

A choice of bundles captures your vision beautifully. Each is personalized to you, each with a dazzling array of services and amenities.

SOUL OF LOVE

A mindful experience on the beach with local wedding rituals and blessings. The hum of glistening waves, the whistle of songbirds above, a native blessing for two—a truly spiritual experience. Barefoot optional.

TROPICAL TALE

Feel the local vibes with native flowers, tropical drinks and local music. Vibrant color, a spectrum of flowers, lush flavors, stirring local music, from Mariachis to steel drums—a tropical celebration that will move you to tears of absolute joy.

GLAM UP

A chic, luxurious experience with high-end details. Imagine a beautiful princess in a gown dripping in satin and pearls embraced by her Prince Charming—every detail of your special day is attended to, luxuriously.

Power Meetings

- 15,767 square feet of meeting space
- Capacity for up to 1,360 people divided into 10 meetings room
- Two beautiful gazebos for weddings and special events
- Private garden areas for cocktail receptions
- Business center services, wireless internet access in some areas, and state of the art equipment

MEETING ROOMS

ISABELA MEETING ROOM				
Isabela I	48 x 66	3,168	25	300
Isabela II	48 x 66	3,168	25	300
Isabela III	48 x 66	3,168	25	300
CARACOLES MEETING ROOM				
Caracoles 1	16 x 32	512	12	35
Caracoles 2	16 x 32	512	12	35
Caracoles 3	16 x 32	512	12	35
Caracoles 4	16 x 32	512	12	35
PUNTA CANA MEETING ROOM				
Punta Cana I	56 x 32	1,792	9	150
Punta Cana II	56 x 32	1,792	9	150
Punta Cana III	15 x 41	631	9	60



Soul Matters

Bavaro Beach, Punta Cana · Dominican Republic Tel: 809.221.1290 · meliacaribebeach.com